| | ABSTRACT STATEMENT | OF ELECTION EXPENSES |
|------|---|--|
| | PART | `-I |
| I | Name of the Candidate | Sh. Pawan Kumar Kajal |
| II | Number and name of Constituency | 1- Kangra PC |
| Ш | Name of State/Union Territory | Himachal Pradesh |
| IV | Nature of Election (Please mention whether General Election to State Assembly / Lok Sabha / Bye- election) | Lok Sabha |
| V | Date of declaration of result | 23-05-2019 |
| VI | Name and Address of the Election Agent | Sh. Ankush Saini son of Sh. Tilak Raj R/o VPO Ghurkari Tehsil & Distt. Kangra |
| VII | If candidate is set up by a political party, Please mention the name of the political party | Indian National Congress |
| VIII | Whether the party is a recognised political party | Yes |

Date: - 18-06-2019

Place: - Kangra

Signature of the Candidate

Name: Pawan Kumar Kajal

| S. No. | Particulars | Amt. Incurred / Auth. by Candidate/ Election agent(in Rs.) | Amt. Incurred/ authorized by Pol. Party (in Rs.) | Amt. Incurred / authorized by others (in Rs.) | Total Election expenditure (3)+(4)+(5) |
|---|---|--|--|---|--|
| 1 | 2 | 3 | 4 | 5 | 6 |
| | Expenses in public meeting, rally, procession etc.:- I. a: Expenses in public meeting, rally, procession etc. (ie: other than the ones with Star Campaigners of the Political party (Enclose as per Schedule-1) | 16,40,581/- | 2,27,339/- | Nil | 18,67,920/- |
| MAN TO THE WAY TO SEE A STATE OF THE SECOND | I. b: Expenditure in public meeting rally, procession etc. with the Star Campaigner(s) (ie: other than those for general party propaganda) (Enclose as per Schedule-2) | 5,75,275/- | Nil | Nil | 5,75,275/- |

| ÎI | Campaign materials other than those used in the public meeting, rally, procession etc. mentioned in S.No. I above(Enclose as per Schedule-3) | 10,000/- | Nil | Nil | 10,000/- |
|------|--|-----------------|-----------------|------------|----------------------|
| III | Campaign, through print and electronic media including cable network, bulk SMS or internet and Social media (Enclose as per Schedule-4) | Nil | Nil | Nil | Nil |
| IV | Expenditure on campaign vehicle(s), used by candidate(Enclose as per schedule-5) | 8,36,821/- | 3,47,000/- | Nil | 11,83821/- |
| V | Expenses of campaign workers / agents (Enclose as per Schedule –6) | Nil | Nil | Nil | Nil |
| VI | Any other campaign expenditure | 5,28000/- | Nil | Nil | 5,28,000/- |
| VII | Expenses incurred on publishing of declaration regarding criminal cases (Enclose as per Schedule-10)* | Nil | Nil | Nil | Nil |
| | Grand Total | 35,90,677/- | 5,74,339/- | Nil | 41,65,016/- |
| S No | PART III : ABSTRACT OF SOUR Particulars | RCE OF FUN | DS RAISED | BY CANDI | DATE Amount (in Rs.) |
| 1 | 2 | | | | 3 |
| I | Amount of own fund used for the election campaign (Enclose as per Schedule - 7) | | 1,65,016/- | | |
| II | Lump sum amount received from the party (ies) in ca (Enclose as per Schedule -8) | | 40,00,000/- | | |
| III | Lump sum amount received from any person/ comparetc. as loan, gift or donation etc. (Enclose as per Schedule -9) | ny/ firm/ assoc | ciations / body | of persons | NII |

41,65,016/-

Total

Schedules- 1 to 9: Details of Elections Funds and Expenditure of Candidate

| Sched | tule- 1 | | | | |
|--|--|--------------------|--|---|-------------------------|
| Exper | ises in public meeting, rally, procession etc. (ie: other th | an those with Star | Campaigners of the | Political party | ·) |
| S. No | Nature of Expenditure | Total Amount | Source of Expendi | ture | |
| | | in Rs. | Amt. incurred / Auth. by Candidate / agent | Amt. incurred / by Pol. Party with name | Amt. incurred by others |
| 1 | 2 | 3 | 4 | 5 | 6 |
| 1 | Vehicles for transporting visitors | Nil | Nil | Nil | Nil |
| 2 | Erecting Stage, Pandal & Furniture, Fixtures, poles etc. | 4,98,573/- | 2,71,234/- | 2,27,339/- | Nil |
| 3 | Arches & Barricades etc. | Nil | Nil | Nil | Nil |
| 4 | Flowers/ garlands | Nil | Nil | Nil | Nil |
| 5 | Hiring Loud speakers, Microphone, amplifiers, comparers etc. | 15,000/- | 15,000/- | Nil | Nil |
| 6 | Posters, hand bills, pamphlets, Banners, Cut-outs, hoardings | 5,96,910/- | 5,96,910/- | Nil | Nil |
| 7 | Beverages like tea, Water, cold drink, juice etc. | 9,760/- | 9760/- | Nil | Nil |
| 8 | Digital TV –boards display, Projector display, tickers boards, 3D display | Nil | Nil | Nil | Nil |
| 9 | Expenses on celebrities, payment to musicians, other artists remuneration etc. | Nil | Nil | Nil | Nil |
| 10 | Illumination items like serial lights, boards etc. | Nil | Nil | Nil | Nil |
| The state of the s | Expenses on transport, Helicopter/ aircraft / vehicles/ boats etc. charges (for self, celebrity or any other campaigner other than Star Campaigner) | Nil | · Nil | Nil | Nil |
| 12 | Power consumption/ generator charges | Nil | Nil | Nil | Nil |
| 13 | Rent for venue | Nil | Nil | Nil | Nil |
| 14 | Guards & security charges | Nil | Nil | · Nil | Nil |
| | Boarding & lodging expenses of self, celebrity, party functionary or any other campaigner including Star Campaigner | 8,827/- | 8,827/- | Nil | Nil |
| | Others expenses (polling agents and counting agents) $(6,60,450/-+78,400/-)$ | 7,38,850/- | 7,38,850/- | Nil | Nil |
| | Total | 18,67,920/- | 16,40,581/- | 2,27,339/- | |

Schedule-2

Expenditure in public meeting rally, procession etc. with the Star Campaigner(s) as apportioned to candidate (ie: other than those for general party propaganda)

| S. No | Date and Venue | Name of the Star Campaigner(s) & Name of Party | procession etc apportioned to | . with the Sta | lic meeting rally, r Campaigner(s) As other than for | Remarks, if any |
|-------|----------------------------------|--|----------------------------------|------------------------------|--|--|
| 1 | 2 | 3 | | 4 | | 5 |
| | | | Se | ource of Expendi | ture | |
| | | | Amount by Candidate/Age nt | Amount by Political Party | Amount by Others | |
| No. | 29-04-2019 Held at Dari | Smt. Rajni Patil, Sh. Vir Bhadra Singh, Sh. Anand Sharma, Sh. Kuldeep Singh Rathore, Sh. G.S. Bali, Smt. Vipulam Thakur, & Indian National Congress | | Nil | Nil | |
| 2 | 29-04-2019 Held at Matour | Sh. Vir Bhadra Singh, & Indian National Congress | | Nil | Nil | |
| 3 | 01-05-2019 Held at Daroh | Sh. Vir Bhadra Singh, & Indian National Congress | 5,900/- | Nil | Nil | |
| 4 | 01-05-2019 Held at Panchrukhi | Sh. Vir Bhadra Singh, & Indian National | 7,200/- | Nil | Nil | |
| 5 | 01-05-2019 Held at Panchrukhi | Sh. Vir Bhadra Singh, & Indian National Congress | | Nil | Nil | |
| 6 | 02-05-2019 Held at Palampur | Sh. Vir Bhadra Singh, & Indian National Congress | 27,505/- | Nil | Nil | |
| 7 | 02-05-2019 Held at Baijnath | Sh. Vir Bhadra Singh, & Indian National Congress | 12,200/- | Nil | Nil | |
| 9 | 03-05-2019 Held at Gangath | Sh. Vir Bhadra Singh, & Indian National Congress | 19,160/- | Nil | Nil | |
| 9 | 03-05-2019 Held at Jawali | Sh. Vir Bhadra Singh, & Indian National Congress | 15,000/- | Nil | Nil | |
| 10 | 03-05-2019 Held at Fatehpur | Sh. Vir Bhadra Singh, & Indian National Congress | 10,870/- | Nil | Nil | |
| 1 1 | 08-05-2019 Held at Banikhet | Sh. Vir Bhadra Singh, & Indian National Congress | 25,000/- | Nil | Nil | |
| 12 | 08-05-2019 Held at Churah | Sh. Vir Bhadra Singh, & Indian National Congress | 18,000/- | Nil | Nil | |
| 13 | 09-05-2019 Held at Palampur | Sh. Anand Sharma & Indian National Congress | 60,000/- | Nil | Nil | |
| 14 | 29-04-2019 Matour to Dari | Smt. Rajni Patil, Sh. Vir Bhadra Singh, Sh. Anand Sharma, Sh. Kuldeep Singh Rathore, Sh. G.S. Bali, Smt. Vipulam Thakur, & Indian National Congress | | Nil | Nil | Payment made to dholi and band party |
| Total | | | 5,75,275/- | | | |

Schedule-3

Details of expenditure on campaign materials, like handbills, pamphlets, posters, hoardings, banners, cut-outs, gates & arches, video and audio cassettes, CDs/ DVDs, Loud speakers, amplifiers, digital TV/ board display, 3 D display etc. for candidate's election campaign (ie: other than those covered in Schedule-1 & 2)

| S. No. | Nature of Expenses | Total Amount in Rs. | Sources of Ex | Remarks, if any | | |
|--|---|---------------------|---------------------------|-----------------------|----------------|---|
| 1 | | | Amt. By candidate / agent | Amt. By Pol. Party | Amt. By others | |
| 1 | 2 | 3 | 4 | 5 | 6 | 7 |
| The same of the sa | Audio CD/PAN Drive for companying purpose | 5,000/- | 5,000/- | Nil | Nil | |
| 2 | Audio CD/PAN Drive for companying purpose | 5,000/- | 5,000/- | Nil | Nil | |
| Total | | Rs. 10,000/- | | | | |

Schedule- 4

Details of expenditure on campaign through print and electronic media including cable network, bulk SMS or Internet or social media, news items/TV/radio channel etc., including the paid news so decided by MCMC or voluntarily admitted by the candidate. The details should include the expenditure incurred on all such news items appearing in privately owned newspapers/TV/radio channels etc.

| S. No | Nature of medium | Name and address of media provider (print | Name and address of agency, | Total Amount | Sources of Expenditure | | | | |
|----------|---|--|--|-----------------------|--------------------------|-----------------------|----------------|--|--|
| .10 | (electronic / print) and duration | /electronic /SMS / voice/ cable TV, social media etc.) | reporter, stringer, company or any person to whom charges / commission etc. paid/ payable, if any | in Rs. Col. (3) +(4) | Amt. By candidate/ agent | Amt. By Pol. Party | Amt. By others | | |
| 1 | 2 | 3 | 4 | 5 | 6 | 7 | 8 | | |
| 1 | Nil | Nil | Nil | Nil | Nil | Nil | Nil | | |
| 2 | Nil | Nil | Nil | Nil | Nil | Nil | Nil | | |
| 3 | Nii | Nil | Nil | Nil | Nil | Nil | Nil | | |
| 1 | Nil | Nil | Nil | Nil | Nil | Nil | Nil | | |

Schedule-4A

Details of expenditure on campaign through print and electronic media including cable network, bulk SMS or Internet or social media, news items/TV/radio channel etc., including the paid news so decided by MCMC or voluntarily admitted by the candidate. The details should include the expenditure incurred on all such news items appearing in newspapers/TV/radio channels, owned by the candidate or by the political party sponsoring the candidate.

| S. No | medium | /electronic /SMS / voice/ cable TV, social media etc.) | Name and address of agency, reporter, stringer, | Total Amount in Rs. | Sources of Expenditure | | | |
|-----------|-----------------------------------|--|--|---------------------|-------------------------|-----------------------|----------------|--|
| | (electronic / print) and duration | | company or any person to whom charges / commission etc. paid/ payable, if any | Col. (3) +(4) | Amt. By candidate/agent | Amt. By Pol. Party | Amt. By others | |
| - Transit | 2 | 3 | 4 | 5 | 6 | 7 | 8 | |

| 1 | Nil | Nil | Nil | Nil | Nil | Nil | Nil |
|-------|------|-----|-----|-----|-----|-----|-----|
| | | | | | 7 | | |
| 2 | Nil | Nil | Nil | Nil | Nil | Nil | Nil |
| | | | | | | | |
| 3 | Nil | Nil | Nil | Nil | Nil | Nil | Nil |
| | 10 M | | | | | | |
| 4 | Nil | Nil | Nil | Nil | Nil | Nil | Nil |
| | | | | | | | |
| Total | | | • | | | | |
| | | | | | | | |

Schedule -5

Details of expenditure on campaign vehicle (s) and poll expenditure on vehicle(s) for candidate's election campaign

| S. No | Regn. No. of Vehicle | Hiring Char | ges of vehicle | | No. of Days for | Total amt. incurred/ auth. | Source of Ex | penditure | |
|----------|-----------------------|---|--|-----|--------------------|----------------------------|-------------------------|-----------------------|-------------------------|
| | & Type of Vehicle | Rate for Hiring of vehicle / maintenanc e | Fuel charges (If not covered under hiring) Driver's charges (If not covered under hiring) | | which used | in Rs. | Amt. By candidate/agent | Amt. By Pol. Party | Amt By other s |
| | 2 | 3a | 3b | 3c | 4 | 5 | 6 | 7 | 8 |
| 1. | H.R.T.C. Buses | 7,424.25 x 66 | Nil | Nil | 1 Day | 4,90,000/- | 4,90,000/- | Nil | Nil |
| 2. | Prem Bus Service | 7500 x 8 | Nil | Nil | 1 days | 60,000/- | 60,000/- | Nil | Nil |
| 3. | Kalka Bus | 6000 x 7 | Nil | Nil | 1 day | 42,000/- | 42,000/- | Nil | Nil |
| 4. | Yatrika Travel | 6000 x 1 | Nil | Nil | 1 days | 6,000/- | 6,000/- | Nil | Nil |
| 5. | New Friends Bus | 7500 x 2 | Nil | Nil | 1 Day | 1,5000/- | 1,5000/- | Nil | Nil |
| 6. | Sehria Bus Service | 7500 x 4 | Nil | Nil | 1 day | 30,000/- | 30,000/- | Nil | Nil |
| 7. | Kunal Bus Service | 6000 x 4 | Nil | Nil | 1 day | 24,000/- | 24,000/- | Nil | Nil |
| 8. | Moon Light Bus | 6000 x 2 | Nil | Nil | 1 day | 12,000/- | 12,000/- | Nil | Nil |
| 9. | Ravi Bus Service | 6000 x 2 | Nil | Nil | 1 day | 12,000/- | 12,000/- | Nil | Nil |
| 10. | TY TO | 7500x 4 | Nil | Nil | 1 day | 30,000/- | 30,000/- | Nil | Nil |
| 11. | EVEN ADEN A COO | 15 x 50=750/- | Nil | 500 | 1 days | 1250/- | 1250/- | Nil | Nil |
| | HP40B5001, I-10 | 15 x 50=750/- | Nil | 500 | 1 days | 1250/- | 1250/- | Nil | Nil |
| 13. | HP40C6118, I-20 | 15 x 50=750/- | Nil | 500 | 1 days | 1250/- | 1250/- | Nil | Nil |



| - | | | | | | | | | |
|--------|-------------------------|--|-----------------|-----|--------|----------|----------|---------|-----|
| 14 | HP40D6225, 1-20 | 15 x 50=750/- | - Nil | 500 | 1 days | 1250/- | 1250/- | Nil | Vie |
| 15 | HP40D9596, HEXA | 22 x 50=1100/- | Nil | 500 | 1 days | 1600/- | 1600/- | Nil | Nil |
| 16 | VID 40 D 0000 | 15 x 50=750/- | Nil | 500 | 1 days | 1250/- | 1250/- | Nil | Nil |
| 17 | HP40C6100, SWIFT | 20 x 50=1000/- | Nil | 500 | 1 days | 1500/- | 1500/- | Nil | Vie |
| 18 | TITIZOCIONAL | 22 x | Nil | 500 | 1 days | 1600/- | 1600/- | Nil | Nil |
| 19 | HP40B6022, ALTO | 15 x 50=750/- | Nil | 500 | 1 days | 1250/- | 1250/- | Nil | Nil |
| 20 | HP685676, ALTO | 15 x 50=750/- | Nil | 500 | 1 days | 1250/- | 1250/- | Nil | Nil |
| 21 | HP39C0016, | Nil | 25 x 65.41=1635 | 500 | 1 day | 2,135/- | 2,135/- | Nil | Nil |
| 22 | FORTUINOF HP39C0016, | Nil | 14 x 65.28=914 | 500 | 1 day | 1,414/- | 1.414/- | Nil | Nil |
| 23 | | Nil | 17 x 65.28=1110 | 500 | 1 day | 1,610/- | 1,610/- | Nil | Nil |
| 24 | FORTUINOR HP39C0016, | Nil | 22 x 65.34=1437 | 500 | 1 day | 1,937/- | 1,937/- | Nil | Nil |
| 25 | FORTUINOR HP39C0016, | Nil | 26 x 65.28=1697 | 500 | 1 day | 2,197/- | 2,197/- | Nil | Nil |
| 26 | FORTUINOR HP39C0016, | Nil | Nil | 500 | 1 day | 500/- | 500/- | Nil | Nil |
| 27 | FORTUINOR HP39C0016, | Nil | Nil | 500 | 1 day | 500/- | 500/- | Nil | Nil |
| 28 | FORTUINOR HP39C0016, | Nil | Nil | 500 | 1 day | 500/- | 500/- | Nil | Nil |
| 29 | HP39C0016, | Nil | 20 x 65.20=1304 | 500 | 1 day | 1,804/- | 1,804/- | Nil | Nil |
| 30. | FORTUINOR HP39C0016, | Nil | 58 x 65.13=3777 | 500 | 1 day | 4,277/- | 4,277/- | Nil | Nil |
| 31. | FORTUINOR HP39C0016, | Nil | 33 x 64.94=2143 | 500 | 1 day | 2,643/- | 2,643/- | Nil | Nil |
| 32. | FORTUINOR HP39C0016, | Nil | 31 x 64.77=2008 | 500 | 1 day | 2,508/- | 2,508/- | Nil | Nil |
| 33. | FORTUINOR HP39C0016, | Nil | 14 x 64.65=905 | 500 | 1 day | 1,405/- | 1,405/- | Nil | Nil |
| 34. | FORTUINOR HP39C0016, | Nil | 29 x 64.54=1871 | 500 | 1 day | 2,371/- | 237//- | 2,371/= | Nil |
| 35. | FORTUINOR HP39C0016, | Nil | 17 x 64.56=1097 | 500 | 1 day | 1597/- | 1597/- | Nil | Nil |
| 36. | FORTUINOR HP39C0016, | THE RESERVE AND ADDRESS OF THE PERSON NAMED IN COLUMN 2 IS NOT THE | 23 x 64.58=1485 | 500 | 1 day | 1985/- | 1985/- | Nil | Nil |
| 37. | | Nil | 23 x 64.64=1487 | 500 | 1 day | 1987/- | 1987/- | Nil | Nil |
| 38. | FORTUINOR HP01D5802 | 3000 | Nil | Nil | 5 days | 15,000/- | 1,5000/- | Nil | Nil |
| 39. | HP37F3900 | 3000 | Nil | Nil | 3 days | 9000/- | 9000/- | Nil | Nil |
| 40. | HP568645 | 3000 | Nil | Nil | 3 days | 9000/- | 9000/- | Nil | Nil |
| 41. | HP39C3667 | Nil | Nil | Nil | 3 DAYS | 10000/+- | 10,000/- | Nil | Nil |
| ment w | Admitted as per SOR | Nil | Nil | Nil | Nil | 10000/- | 10,000/- | Nil | Nil |
| 43. | | Nil | Nil | Nil | Nil | 9000/- | 9,000/- | Nil | Nil |
| 44. | Car expenses | Nil | Nil | Nil | Nil | 9000/- | 9,000/- | Nil | Nil |

| | per SOR | | | | | | | | | | | | | _ |
|-------|------------------------------|---|---------------------------|-----------------|-----------------|---|------------|---------------------------|-----------|--------------------|----------------------|---------|-------------|-------|
| | Amount a settled with buses | admitted th obse | d as per S(rvers rega | OR & am | ount private | | | | 3,47,000/ | '- | Nil | 3,4 | 7,000/- | Nil |
| Tota | al | | | | | | | | 11,83,82 | 1/- | 8,36,821/- | 3,4 | 7,000/- | Nil |
| Sch | edule- 6 | | | | | | | | | | | | | |
| Deta | ails of expend er's slips | iture or | Campaig | n workei | rs / age | nts and on can | didates | ' booths | (kiosks) | outside | polling station | ons for | distributio | on of |
| S. | Date and | Expe | nses on Ca | mpaign | worker | 'S | | Total a | ımt. | Source | es of Expendi | ture | | |
| No | Venue | Natur | e of Expe | nses | Rate | No. of workers / agents No. of kiosks | | incurred/ auth. In Rs. | | | | t. By F | Pol. Amo | t. By |
| | 2 | 3a | | | 3b | 3c | | 4 | | 5 | 6 | | 7 | |
| | | Candidates' booths (kiosks) set up for distribution of voter's slips | | or | Nil | il Nil | | ľ | Nil | 1 | Vil | Nil | | Nil |
| | | Campaign workers honorarium/ salary | | ers ary etc. | Nil | Nil | | N | Vil | N | Nil | | | Nil |
| | | Boarding | | | Nil | Nil | | N | lil | N | il | Nil |] | Nil |
| | | Lodgi | ng | | Nil | Nil | | N | lil | N | il | Nil | 1 | Nil |
| `otal | 1 | Others | 5 | | Nil | Nil | | N | il | N | il | Nil | I | Vil |
| | dule- 7 | | | | | | | | | | | | | |
| etai | ils of Amount | of own | fund used | for the | election | ı campaign | | | | | | | | |
| No | Date | | Cash | | | DD/ Cheque | no. etc. | with de | tails of | Total A | mount in Rs. | Rema | arks | |
| | 2 | | 3 | | | drawee bank | | | | | | | | |
| | 29-04- | 2019 | | 65,016 | | 4 | Nil | | | 5 | (F.016) | 6 | | |
| otal | | | | | | | | | | | 65,016/- 65,016/- | | On Fund | |
| hec | dule- 8 | | | | | | | | | | | | | |
| tail | ls of Lump su | m amoi | ınt receive | d from t | he part | y (ies) in cash | or cheq | ue or D | D or by | Account | Transfer | | | |
|). | Name of the | Politica | al Party | Date | | Cash | DD deta | / Chequails of di | e no. etc | c. with Total Amou | | int in | Remarks, | if |
| | 2 Indian National | C | | 3 | | 4 | 5 | | | | 6 | | 7 | |
| - 1 | mulan National | Congre | dian National Congress 03 | | | NIL | | Nil | | | 40,00,000/- Th | | | |



| | Total | | | | | | | | | 4 | 0,00,000/- | |
|--------------------|--|------------------|-------------|-------------------------------------|---------------------|---|------------------------------|---|---|----------|-----------------------------------|----------------|
| Sche | dule- 9 | | | | | | | | | | | |
| Deta | ils of Lump sum | amount red | ceived from | n any person/ | /compan | y/firm/asso | ociati | ons/body | of person | s etc. a | es loan gift o | ar donation of |
| S. No. | Name and add | ress Dat | | Cash | | DD/ Cheque no. etc. with details of drawee bank | | Mention whether loan, gift or donation etc. | | | | Remarks |
| 1 | 2 | 3 | | 4 | | 5 | | 6 | | 7 | | |
| 1 | Nil | | | Nil | | Nil | | Nil | | Nil | | 8 |
| | Total | | | | | 1111 | | 4 111 | | 1111 | | Nil |
| 0.1 | dule- 10* | | | | | | | | | | | |
| Deta Sl. No. | nils of expenditure incurred on publishing crimin Newspaper | | | | Telev | al antecedents, if any in newspaper and T Television | | | | | Mode of p (electronic Cash) | /cheque/DD/ |
| | Name of Newspaper | Date of publishi | ng may | enses that have been rred (in | Name of chann | inser | te & Time of ertion/telecast | | Expenses that may have been incurred (in Rs.) | | (Pl. specify | y) |
| 1 | 2 | 3 | | 4 | 5 | | 6 | | RS.) | | | 8 |
| Nil | Nil | Nil | | Nil | Nil | | Nil | | Nil | | Nil | |
| Nil | Nil | Nil | | Nil | Nil | | Nil | | Nil | | Nil | |
| Nil | Nil | Nil Nil Nil | | | Nil | | Nil | | | 2711 | | Nil |
| Γotal | | | | | | | | | | | , | **** |

Note:

- 1. In Schedule 5:-
- (a) copy of the order containing list of all vehicles for which permit issued by the Returning Officer to be enclosed.
- (b) If the vehicle is owned by the candidate/his relative/agent are used for election purpose, notional cost of hire of all such vehicles, except one vehicle if owned and used by the candidate, notional cost of fuel and drivers salary for such vehicle, shall be included in total amount of expenditure in the above table.
- 2. In all schedules if any expenditure on goods and services, provided by the Political Party; or provided by any person/ company/ firm /associations/ body of persons etc. on behalf of the candidate, then the notional market value of such goods or services are to be indicated, in respective columns.
- 3. In Part –III, the Lump-sum amount of fund received from the political party or others or the candidate's own funds, should be mentioned date wise. In all such cases such amounts are required to be first deposited in the bank account of the candidate, opened for election expenses.
- 4. Each page of the Abstract Statement should be signed by the candidate

* In pursuance of Hon'ble Supreme Court Judgment dated 25.09.2018 in WP(C) No. 536 of 2011.

- Pun



PART- IV

हिमाचल प्रदेश HIMACHAL PRADESH

07AA 174528

FORM OF AFFIDAVIT

Before the District Election Officer 1-Kangra PC, State Himachal Pradesh

Affidavit of Shri. Pawan Kumar Kajal , S/o Late Sh. Amar Singh

Pawan Kumar Kajal, S/o Late Sh. Amar Singh, aged 46 years, r/o V.P.O. Sahoura, Tehsil & Distt. Kangra, Himachal Pradesh, do hereby solemnly and sincerely state and declare as under:-

- (1) That I was a contesting candidate at the general election to the House of the People from 1-Kangra Parliamentary constituency, the result of which was declared on 23rd of May 2019.
- (2) That I/my election agent kept a separate and correct account of all expenditure incurred / authorised by me / my election agent in connection with the above election between 29-r04-2019 to 23-05-2019 (the date on which I was nominated) and the date of declaration of the result thereof, both days inclusive.
- (3) That the said account was maintained in the Register furnished by the Returning Officer for the purpose and the said Register itself is annexed hereto with the supporting vouchers/bills mentioned in the said account.
- (4) That the account of my election expenditure as annexed hereto includes all items of election expenditure incurred or authorised by me or by my election agent, the political party which sponsored me, other associations / body of persons and other individuals supporting me, in connection with the election, and nothing has been concealed or

Dhafamshala
Sr. No. 2 947
Date 19/-6/19
Time 3 2 3 0 20

And Anthrope of the Anthrope o

1186 Pawan Kumas Kumas Kajal

10 Kalania Starop Venes

264/15

withheld/suppressed therefrom (other than the expense on travel of leaders' covered by Explanations 1 and 2 under section 77 (1) of the Representation of the People Act, 1951).

- (5) That the Abstract Statement of Election Expenses annexed as Annexure II to the said account also includes all expenditure incurred or authorised by me, my election agent, the political party which sponsored me, other associations / body of persons and other individuals supporting me, in connection with the election.
- (6) That the statements in the foregoing paragraphs (1) to (5) are true to the best of my knowledge and belief, that nothing is false and nothing material has been concealed.

Deponent

Solemnly affirmed/sworn by Pawan Kumar Kajal at Kangra this 18day of June 2019 before me.

(Signature and see of the Attesting authority, i.e. Magistrate of the first Class or Oath Commission or Notary Public)

Certified that the above was declared